1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELFASE LJH 08/13/05’ Y LJC 08/13/05’
ITEM | PART NAME Qty NOTES B S ] YCH 09/13/07 o LJC 05/20/10’
— ‘ — 1 PLASTIC HOOD 2 ABS C EM3*12(F 5] yM3%10 | YCH 08/30/10° ~
— (s ———=L] 0 5 | 21| LONG BOLT 2 #4—40
n i n > 2.2| SHORT BOLT 2 #4-40 NOTES:
‘ " . LWL i M3 1. PART NUMBER CODE:
: | 4 LONG SCREW M3 DS1046 — 09 X X X X
5 SMALL WASHER 2 — Washer type
6 SHORT SCREW 2 M3 1 Metal
7.1| METAL WASHER 2 2: Plastic—1(Lock type)
30.8 7|7.2| PLASTIC—1 WASHER 2 3: Plastic—2(Screw type)
12.0 7.3| PLASTIC—2 WASHER 2 Bolt type
1 L: Long
S: Short
1 |—_|2 — Packing type
— ‘ e A 1: Mix packing
— ! — 2: Separation packing
L ‘ 1 1) —— Cover Material
! C: Chromium plating
‘ ol © —Position
| 2 I 09: 9pin
|
‘ 2:\ 14.3
vy 4—40 UNC
8 5 3
\
0 LTS R N -
7.0 © 1.0 | 5.5
0 . .
‘ ‘ 0 %] 9.40
N, u_\ Short BOLT UNT t=2.3mm
M3 5
4 \ 4.8
: L I} i T ‘ 10.0 //_ |
- I g ; } | } vl 23,2 !
T TR | =< |
: B =& P |
4—40 UNC 8 g @ 2 i
< M)
8l ¢ 2 Metal Plastic—1 Flostie2 FONG SeRE SMALL WASHER
1= - - 1 - GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
@ 4.0 e e @ = 4 D—SUB 9pin Hood Chromium Plated
- . UNITS mm
6.6 " 7 X. +0.60 X. 45
13.5 3 X £0.38 X £33 SHEET SIZE A4 SERIES | DS1046 SERIES
0.5 XX +0.25 XX £2°
»
44 DRAWING TYPE |COSTOMER }% ﬁ]}] EE ? ﬁ IEE Z\ a
Long BOLT SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. | C—DS1046—09XXXX—C cornnFLYy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8



CHY
新建图章

CHY
新建图章


1 2 | 4 S | 6 | | 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED A
’ A NEW RELEASE LJH 05/18,/05’ ~ LJC 05/18/05°
ITEM PART NAME Q ty NOTES B s YCH 09/1 3/07' ~—
/_n_ﬂ_hﬁ 1 PLASTIC HOOD 2 ABS
U—m—u 5 [2:1] LONG BOLT 2 #4-40
i Z TR T BOLT 2 #4-40 NWOTPE;T NUMBER CODE:
‘ 33.32 \ 5 Ak 2 M3 DS1046 — 15 X X X X B
39 2 4 LONG SCREW 2 M3 T washer type
5 SMALL WASHER 2 ;1 Metal ( )
: Plastic—1(Lock type
6 SHORT SCREW 2 M3 3: Plastic—2(Screw type) | _
7.1 "METAL WASHER 2 M3 Bolt type
7 117.2 | PLASTIC—1 WASHER 2 ABS é: Lsohngt
. or
7.3 || PLASTIC—2 WASHER | 2 ABS Packing type C
1 1: Mix packing
_\ ‘ 2: Separation packing
E\ i Cover Material
| \ X | C: Chromium plating
} Position B
15: 15pin
o - C:] 2
O N _\ 14.3 D
M ﬂ: | @ Zs 1.8 \ 4-40 UNC
SRS I W | p—
5.5 —
| 1.0 6.7
Short BOLT
E
12.0
5.9 22 %@\ LONG SCREW
|
]
Y \ — W - ! F
N : ; -
1 J " S EZ 7.7 |
S | ’ T 98 ' M3 ?5-9 % N\ L
\_ ‘/1’2‘ rit ‘ 23.2
-t e M25 | | ,4,&&, ! — — p
2 7.5
Metal Plastic—1 Plastic—2 : o
4—40 UNC 9 — - - - - - - - il - i ‘
3 SHORT SCREW SMALL WASHER
—— \ ] GENERAL TOLERANCE| ANGLE TOLERANCE “&F [TTLE
{ I POROREIEDE] ERDECTN @ = 4 D—SUB 15pin Hood Chromium Plated
40 X. £0.60 X. %5 UNITS mm
6.6 8 Y X +0.38 X 3 SHEET SIZE A4 | SERIES | DS1046 SERIES
13.5 4 3 XX £0.25 XX 2
305 DRAWING TYPE |COSTOMER }1% ;;];] EE ? %‘ KE /A\\ a
1 4“BOU SCALE 1:1 [SHEET [1 OF 1 a
ong DRAWING NO. [ C—DS1046—15XXXX connFLYy CONNFLY ELECTRONIC CO. LTD
1 2 I 4 | 5 6 I 7 I 8



CHY
新建图章

CHY
新建图章


2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 10/26/05" ~ LJC 10/26/05’
ITEM PART NAME Q'ty NOTES B Pt YCH 09/1 3/07' ~
54.0 1 PLASTIC HOOD 2 ABS
, [2:1] LONG BOLT 2 #4—-40
£7.04 ‘ 2.2| SHORT BOLT 2 #4—-40
11.0 ‘ 3 NUT 2 M3 NOTES:
‘ i 4 LONG SCREW 2 M3 1. PART NUMBER CODE:
‘ :I'Iﬂ 5 SMALL WASHER 2 DS1046 — 25 X XXX
; 7 6 SHORT SCREW 2 | M3 Washer type
| 7.1| METAL WASHER 2 M3 2 143 2: Plastic—1(Lock type)
7 |7.2| PLASTIC—1 WASHER 2 ABS . 4—40 UNC ;: E\fstic—Z(Screw type)
7.3| PLASTIC—2 WASHER 2 ABS 4 1.8 L:OLonche
8.0 L= N — S: Sh_ort
Packing type
([ ] . 5.5 1: Mix packing
i - 6.7 2: Separation packing
i Cover Material
‘ Short BOLT C: Chromium plating
! Position
\ 25: 25pin
I 3
| 4
| M3
| :
’_/7 = i LT
g J: . \ . :L UNT t=2.3mm
C ! v,
\
e 5 N
% & 9
g \1‘ © & ’]}) . 140 y g
1 el ; (\{: |- I ANy T ﬁ :
M3 — Y % { ‘ K
p o i I 6
a e - - , | | | 1 l 1]
I l {E§ | @ P : o
M3 &
2 Plastic—1 Plastic—2
4-40 UNC 8 =
g o SHORT SCREW
I | A\ GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION {} TITLE
— PRRRRRKHRKA NS ) D—SUB 25pin Hood Chromium plated
66 2 . X. +0.60 X. %5 mm
135 b4 &y X  £0.38 X %3 SHEET SIZE A4 SERIES | DS1046 SERIES
] w05 XX £0.25 XX 2
“ DRAWING TYPE |COSTOMER )T?( #]] EE ? ﬁ‘ I}E j
Long BOLT SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. | C—DS1046—25XXXX connFLY CONNFLY ELECTRONIC CO. LTD
2 I 4 | 5 6 I 7 I 8



CHY
新建图章

CHY
新建图章


2 S 4 5 | 6 | 7 | 8

53
Sl

oM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
ITEM PART NAME Q't NOTES ’ y
4 B R i YCH 09/13/07 ~
1 PLASTIC HOOD 2 ABS
9 LONG BOLT 2 #4—-40
SHORT BOLT 2 #4—-40
3 NUT 2 M3
4 LONG SCREW 2 M3 NOTES:
1. PART NUMBER CODE:
5 SMALL WASHER 2 DS1046 — 37 X X X X
6 SHORT SCREW 2 M3 T Washer type
1: Metal
7.1
METAL WASHER 2 M3 2: Plastic—1(Lock type)
7 |7.2| PLASTIC—1 WASHER 2 ABS 3: Plastic—2(Screw type)
7.3 | PLASTIC—2 WASHER 2 ABS Bolt type
L: Long
S: Short
Packing type
1: Mix packing
2: Separation packing
Cover Material
2 C: Chromium plating
_\\ 144-340 e Position
= 37: 37pin
\ A P

Lo e

5.5
6.7

Short BOLT
3 4
M3
i M3
o| x — . @
\ UNT t=2.5mm LONG SCREW
4.8
= l
! 24.0
18.0
‘ [=))| Wz 6
! é @” D M3 &
& . N
2 LMo Pestonl Emaa.. @ scopdng. )
) SHORT SCREW
4-40 UNC E E ‘\
i GENERAL TOLERANCE| ANGLE TOLERANCE —} [TITLE
@ — DR PROUEGHAIN [ LEL=L D—SUB 37pin Hood Chromium plated
20| - . X. £0.60 X, &5 UNITS mm
o 2 3 X $0.38 X x5 SHEET SIZE A4 | SERIES | DS1046 SERIES
125 e XX +0.25 XX 2 1
44 DRAWING TYPE [COSTOMER @ e ﬁ[)] Eﬁ % ﬁ IEE /A.\ a
SCALE 1:1 [SHEET [1 OF 1
Long BOLT
2 ! 3 4 | 5 6 ! 7 ! 8



CHY
新建图章

CHY
新建图章




